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1. Answer the following questions : 1x10=10
@ PR Tad ot

(@) Write one use of Edgeworth box
diagram.

gs ey I (I fBaa o1 3= o o

(b) What is contract curve?

y@ﬁ?ﬁﬁi?
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(c) Define pure public good.
SO IS TIH ST fira |

(d) What is degree of monopoly power?
ST T e Wiy R 9

() In which market, there is selling cost?
P Toe & 7 e 9

(/’ What is meant by strategy of a game?

A T (e 3foreat 5 w0

{g) Define signalling in a market.,
I FLFT 5w o |

(h) What is duopoly market?

PR T3 2

() What is meant by  asymmetric
information?
S o2y fercet £ = 2

() What is non-zero-sum game?l
SP-G 47 R o
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2. Answer the following questions : 2x5=10
ooid 2PCARs el o

(a) Define two types of externality.

7 @9 PR e

(b) Distinguish between perceived demand
and proportionate demand.

W@WWW’H@FWWWW
o |

(c) Define Cournot’s oligopoly model.

e P SO T B |

(d) What is market efficiency?
FGH wFel % ?

(e) Distinguish between minimax and
maximin strategies in game theory.

mwﬁﬁwwmﬁﬁﬂ@mm
sfefaey fer4l |
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3. Answer any four of the following questions -
Sx4=20
O AR [ @ vt T fr

(@) Explain the concept of production
possibility frontier.

EQWWWWWWW|

(b) What are the characteristics of public
goods? Explain.

TN 9 AP 5 R 2 271 4 |

(c) Explain Lerner’s measur
Inonopoly power.

Wmawﬁmﬁmwmwwm
W T |

€ of degree of

(d) Explain how the
obtained
game.

saddle point is

In g two-person Z2€ro-sum

(e) Explain the cop

TS 13 ey W 4 |
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Is price discrimination under monopoly
desirable? Support your answer.

GFeooT IERe W RS A 2 CONE
e T e wefm |

4. Answer the following questions : 10x4=40
o b RERCE A
(a) Explain the conditions for Pareto

(b)

optimality.
oICE5’3 edew YRR SR A 41
Or/ =igdl

Explain why there is no supply curve
under monopoly. Briefly explain any

two methods of regulating monopoly

power. 4+6=10

GO IEES Q@A @3 [ WACS, wrm
+11 | <ol *fes Fwg 9= R e o

offe YL A A0

Explain diagrammatically the Bertrand’s
model of duopoly equilibrium.

aﬁ@@awﬁwwmﬁtﬁﬁmﬂwo
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Or / T |

Explain how a firm under monopolistic
competition attains equilibrium both in
the short and long run.

Il afecrit Tere o1 AfdieT e L
I WE M@ SRl A I, i
A 41 | |

(c) Write notes on adverse selection and
moral hazards which may arise due to |
information asymmetry with examples.

5+5=10

BRI TS FARSTT O« IR0 o @A

AfeFe fAdon wie AT R eome G
ferm 1

Or/ «g31

Explain the market equilibrium process
in case of a multi-plant monopoly.

A GIOHI TS W STy
e afeen amam 40

(d) Diagrammatically explain how
externalities  in  production and
consumption lead to market failure

T HF SR ety
FEE IGR
W@ﬁm,ﬁmm@qﬂqﬂwl
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Explain  how optimum  resource
allocation can be obtained with the
help of production possibility frontier
and social indifference curve.

@qwmﬁ@mwwmﬁwﬁ«wam
Wmmﬁﬁ@?q @A oE o,
e 41 |
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